Supporting information

Tetrazolic Acid Functionalized Dihydroindol — Rational
Design of a Highly Selective Cyclopropanation

Organocatalyst

Antti Hartikka" and Per I. Arvidsson™ ™ *

Department of Biochemistry and Organic Chemistry, Uppsala University, Box 576, SE-75123 Uppsala,
Sweden, and Discovery CNS & Pain Control, AstraZeneca R&D SOdertélje, S-151 85 SOdertélje,

Sweden

Page S2-3:  General information

Page $4-5:  Synthetic description for preparation of substrates used in cyclopropanation reactions.
Page S6-9:  Synthetic description of the new catalyst (S)-(-)-Indoline-2-yl-tetrazole (1) including
intermediates.

Page S9-18: Full experimental procedures for cyclopropane products generated both with catalyst (1)
to give compounds 8a-14a and (2) to give 8b-14b. Complete analytic data is supplied for products
originating from both catalysts in order to demonstrate that identical products were obtained.

Page S18-19: References

Page S20-72: Copies of al 'H NMR and *C NMR spectra. Copies of GC-MS and HPLC-UV traces
for determination of enantioselectivity for products generated both by catalyst (1) and (2).



General Information

Chemicals and solvents were either purchased puris p.A. from commercia suppliers or purified by
standard techniques.?” For thin layer chromatography (TLC), precoated 0.25 mm silica plates were used
and spots were visualized either with UV light or by heating after soaking the TLC plate in a solution
consisting of p-anisaldehyde (23 mL), concentrated H,SO, (35 mL), acetic acid (10 mL) and 900 mL
ethanol. Column chromatography was performed on silica gel. Macroporous polystyrene-sulfonic acid
(MP-TsOH) was used as a catch and release resin. *H NMR spectra were recorded on a 500 MHz
(499.9 MHz) spectrometer and **C NMR spectra were recorded on 400 MHz (100.6 MHz) spectrometer
and 300MHz (75.5 MHz) spectrometer. Spectra were recorded at 23 °C, 60 °C and 80 °C using
deuturated chloroform or dimethylsulfoxide-dg as solvent. Chemical shifts (5) in ppm are reported using
residual chloroform or dimethylsulfoxide as internal reference (1H 6 7.26, 13C 6 77.0) or (1H 2.49,
13C 6 39.5) and coupling constants (J) are reported in Hz. Infrared spectra were recorded on a
Spectrum 100 FT/IR spectrometer. Melting point determination was done using a SMP3 melting point
apparatus and are reported uncorrected. Purity of catalyst was confirmed by elemental analysis.
Enantiomeric excesses were partly determined using a high pressure liquid chromatography (HPLC)
system equipped with a column consisting of a chira stationary phase (4 pm, 0.46*250 mm).
Enantiomeric excess determination was also done using gas chromatography coupled to mass
spectroscopy. The GC system was equipped with columns (30m*0,25mm), consisting of a fused silica
capillary tubing coated with a chiral stationary phase (film thickness 0.125 pum) using helium gas at 10
ps as carrier gas and electron impact ionization (El, 70eV). Details concerning the columns and

temperature programs used are given specifically for each compound in the experimental section below.

S2



2E)-4-(Allyloxy)-but-2-enal* 16
(2E)-4-(Allyloxy

The title compound was prepared as described by Garzia-Gémez et a.> Obtained as colorless liquid
(1.16 g; 59%) after column chromatography (silica gel, 40 % diethyl ether in n-pentane), R=0.42. 'H
NMR (400 MHz, CDCl,) & 9.57 (d, 7.88 Hz, 1H), 6.83 (dt, J=15.7, 4.01 Hz, 1H), 6.35 (ddt, J=15.7,
7.86, 2.01 Hz, 1H), 5.90 (ddt, J=17.6, 10.8, 5.7 Hz, 1H), 5.30 (dg, J=17.2, 1.65 Hz, 1H), 5.22 (dq,
J=10.5, 1.44 Hz, 1H), 4.25 (dd, J=4.21, 2.01 Hz, 2H), 4.04 (dt, J=5.48, 1.47 Hz, 2H). °C NMR (100

MHz, CDCl,) 6 68.5, 71.8, 117, 132, 134, 153, 193.
5-Hexenal? 17

The title compound was prepared as described by Diedrich et al.> Gave a colorless il (2.14 g; 54%)
after column chromatography (silica gel, 25 % diethyl ether in n-pentane), R=0.75. *H NMR (400
MHz, CDCls) § 9.77 (t, J=1.67 Hz, 1H), 5.77 (ddt, J=17.1, 10.2, 6.58 Hz, 1H), 5.05 (ddd, J=3.47,
1.47, 0.38 Hz, 1H), 5.06-4.97 (m, 1H) , 2.44 (td, J=7.31, 1.67, Hz, 2H), 2.10 (qt, J=7.1, 1.56 Hz, 2H),

1.74 (d, J=7.36, Hz, 2H). **C NMR (100 MHz, CDCl5) § 24, 36, 42, 117, 136, 203.
(E)-2,7-Octadienal * 18

The title compound was prepared as described by Diedrich et al.? Oxidation of (E)-2,7-Octadienol (1.63
0; 12.9 mmol) furnished dightly yellow liquid which was purified further by means of column
chromatography (silicagel, 20 % diethyl ether in n-pentane), R=0.39, to yield acolorless ail (1.18g; 74
%). *H NMR (500 MHz, CDCl5) & 9.51 (d, J=7.8 Hz, 1H), 6.84 (dt, J=15.6, 6.82 Hz, 1H), 6.12 (ddt,
J=15.8, 7.82, 1.49 Hz, 1H), 5.78 (ddt, J=17.3, 10.3, 1.49 Hz, 1H), 5.06-4.97 (m, 2H), 2.35 (qd,

J=6.83, 1.46 Hz, 2H), 2.11 (m, 2H), 1.62 (quin, J=7.57 Hz, 2H).

S3



(E)-2,7-Octadienol % 19

Reduction of ethyl-(E)-2,7-octadienoate furnished crude product as colorless oil (1.63; 98%). *H NMR
(500 MHz, CDCl5) 6 5.80 (ddt, J=17.1, 10.3, 6.79 Hz, 1H), 5.61-5.73 (m, 2H), 5.00 (dqg, J=17.1, 1.46
Hz, 1H), 4.95 (ddt, J=10.3, 2.07, 1.21 Hz, 1H), 4.08 (m, 2H), 2.03-2.10 (m, 4H), 1.52-1.45 (m, 2H),

1.36 (brs, 1H).
Ethyl-(E)-2,7-octadienoate? 20

The crude product was obtained as an yellow oil which was further purified by means of column
chromatography (silicagd, 1.5 % ethyl acetate in n-hexane). Ethyl-(E)-2,7-octadienoate, R=0.32, (2.26
g, 62 %) and Ethyl-(2)-2,7-octadienoate R=0.40, (0.8 g, 22 %). Ethyl-(E)-2,7-octadienoate: 'H NMR
(500 MHz, CDCl5) § 6.95 (dt, J=15.6, 8.67 Hz, 1H), 5.83 (dit, J=15.6, 1.58 Hz, 1H), 5.78 (ddt, J=17.1,
10.3, 6.72 Hz, 1H), 5.01 (ddg, J=17.1, 1.59, 0.49 Hz, 1H), 4.98 (ddt, J=10.3, 1.59, 0.37 Hz, 1H), 4.18
(g, I=7.1 Hz, 2H), 2.21 (qd, J=14.9, 1.71 Hz, 1H), 2.08 (t, J=7.1 Hz, 1H), 1.56 (qui d, J=7.11, 0.97
Hz, 2H), 1.28 (t, J=7.1 Hz, 3H). *C NMR (100 MHz, CDCl5) § 13, 29, 33, 35, 63, 115, 123, 133, 148,

167.

2-(Dimethyl-2*-sulfanylidene)-1-phenyl-ethanone®  and  2-(dimethyl-A*-sulfanylidene)-1-(4 -

br omophenyl)-ethanone®

The stabilized sulfur ylides 2-(dimethyl-A*-sulfanylidene)-1-phenyl-ethanone and 2-(dimethyl-.’-
sulfanylidene)-1-(4"-bromopheny!)-ethanone were prepared according to literature procedure. *H NMR

and *C NMR, IR and mélting points for both compounds were identical to previously reported data.®

SA



(S)-1-(Benzyloxycar bonyl)-indoline-2-car boxylic acid (3)

Based on a reported procedure:* To a cold solution (5°C) of (S)-(-)-indoline-2-carboxylic acid (2) (4.5
g; 27.57 mmol) in 30 ml of 2 M sodium hydroxide was added under vigorous stirring alternating benzyl
chloroformate (9.38 g; 55.15 mmoal) and 30 ml of a4 M sodium hydroxide solution. The mixture was
stirred for an additional two hours at 5 °C and at room temperature for 3 hours after which the mixture
was washed with 240 ml of diethyl ether. The agueous layer was acidified to pH 1, saturated with
sodium chloride and then extracted with ethyl acetate 3* 100 ml. The combined extracts were dried with
Na,SO,, filtered and concentrated under reduced pressure to give the crude product as a brown powder.
The product was purified by means of column chromatography applying the mixture as a pad of silica
using column chromatography (silica gel; 10 % methanol in dichloromethane and 1 % acetic acid),
Ri=0.50 to give a white powder (7.57 g; 93 %), mp=115-116° C after evaporation of residual acetic
acid using an azeotrope using toluene. *H NMR (500MHz; [Dg]-DMSO; 353.15 K) 3.08 (dd, J=16.6,
3.65 Hz, 1H), 3.57 (dd, J=16.6, 11.5 Hz, 1H), 4.91 (dd, J=11.5, 3.92 Hz, 1H), 5.24 (s, 2H), 6.96 (td,
J=7.44, 0.98 Hz, 1H), 7.16-7.22 (m, 2H), 7.30-7.34 (m, 1H), 7.35-7.44 (m, 4H), 7.60 (m, 1H), 13 (brs,
1H); B3C NMR (75 MHz; [De]-DMSO; 353.15 K) 6 31.9, 59.5, 59.6, 66.4, 113.6, 122.3, 124.4, 126.2,
127, 127.1, 127.2, 127.5, 128, 128.7, 136, 141.6, 151.9, 172.2; IR (neat): vy 3034, 1702, 1269, 1055

cmt.

(S)-1-(Benzyloxycar bonyl)-indoline-2-car boxamide (4)

Based on a reported procedure:®> To a mixture of (S)-1-(benzyloxycarbonyl)-indoline-2-carboxylic acid
(3) (6.95 g; 23.4 mmol), di-tert-butyl pyrocarbonate (6.65 g; 30.5 mmol), ammonium bicarbonate (2.4
g; 29.9 mmol) and acetonitrile 100 ml was slowly added pyridine (1.11 ml; 14.1 mmol) under nitrogen
gas followed by stirring for 68 h at room temperature. The mixture was filtered and the collected
crystals were recrystallized from hot acetonitrile to give white needle shaped crystals (4.33 g; 63 %).
The mother liquor was concentrated under reduced pressure to give dlightly yellow oil which was

dissolved in dichloromethane 50 ml the organic phase was washed with saturated NaHCO; (3*50 ml),

S5



0.2 M HCI (3*50 ml) and brine (50 ml). The solution was dried with Na,SO,, filtered and concentrated
under reduced pressure to give the title compound as yellow oil which was subsequently was purified
by means of column chromatography (silica gel; 5 % methanol in dichloromethane), R=0.33 to give
white powder (1.1 g; 16 %). The combined yield amounted to (5.44g, 78 %), mp=189-190° C. 'H
NMR (500 MHz; [D¢]-DMSO; 353.15 K) & 3.0 (dd, J=16.6, 3.91 Hz, 1H), 3.07 (d, J=16.6 Hz, 1H),
3.5 (dd, J=16.6, 11.2 Hz, 1H), 4.84 (dd, J=11.2, 4.12 Hz, 1H), 5.18-5.25 (m, 2H), 6.94 (td, J=7.44,
1.11 Hz), 7.13-7.19 (m, 2H), 7.3-7.45 (m, 5H), 7.65-7.70 (m, 1H); *C NMR (75 MHz; [D¢]-DMSO;
353.15 K) & 27.5, 32.9, 38.6, 60.1, 66.2, 113.7, 122.1, 124.2, 126.8, 127, 127.4, 127.9, 129.2, 136.1,

1421, 152, 172.4, 172.5; IR (neat): vy 3393, 1698, 1649, 1487, 1062, 755.

(S)-1-(Benzyloxycar bonyl)-indoline-2-car bonitrile (5)

Based on a reported procedure® To a cold mixture 5 °C consisting of (S)-1-(benzyloxycarbonyl)-
indoline-2-carboxamide (4) (5.29 g; 17.9 mmol) and dimethylformamide 70 m capped with a drying
tube (CaCl,) was added cyanuric chloride (2.48 g; 13.4 mmoal) in one shot where after which the
solution was allowed to slowly reach room temperature upon which the stirring was continued for 24
hours. The reaction was quenched with 100 ml water upon which a precipitate was formed. The mixture
was diluted with 300 ml ethyl acetate which dissolved the formed precipitate. The water and ethyl
acetate phases were separated and the water phase was extracted with ethyl acetate (2100 ml). The
combined organic phases were washed with water (4*100 ml), dried with sodium sulphate, filtered and
concentrated under reduced pressure to give crude product as a pale yellow oil which was further
purified by means of column chromatography (silica gel; 5 % methanol in dichloromethane), R=0.75
to give white powder (4.39 g; 88 %), mp=104-105° C. The 'H NMR (500 MHz; [D¢]-DMSO; 333.15
K) & 3.35 (dd, J=16.6, 3.21 Hz, 1H), 3.62 (dd, J=16.6, 10.5 Hz, 1H), 5.30-5.37 (m, 2H), 5.50 (dd,
J=10.7, 3,17 Hz, 1H), 7.05 (td, J=8.54, 1.09 Hz, 1H), 7.20-7.28 (m, 1H), 7.29-7.32 (m, 1H), 7.33-7.37
(m, 1H), 7.38-7.43 (m, 2H), 7.45-7.52 (m, 2H), 7.55-7.65 (m, 2H); *C NMR (75 MHz, [D¢]-DMSO;
333.15 K) ¢ 32.9, 484, 67.3, 114.1, 118.7, 123.2, 124.8, 127.5, 127.8, 127.9, 128.1, 135.5, 139.1,

151.2; IR (neat): v 3132, 2243, 1726, 1604, 1485, 901.

S6



S7



(S)-1-(Benzyloxycar bonyl)-indoline-2-yltetr azole (6)

Based on a reported procedure:’” A mixture of (S)-1-(benzyloxycarbonyl)-indoline-2-carbonitrile (5)
(3.22 g; 11.6 mmoal), sodium azide (1.51g; 23.1 mmol), and zink bromide (1.31; 5.78 mmol) in 30 ml
2-propanol and 30 ml water was stirred at reflux for 24 hours. To the reaction mixture was added 6 ml 3
M HCI upon which a white precipitate was formed and subsequently the mixture was diluted with 100
ml ethyl acetate after which the mixture was left stirring at room temperature until no solid was present
and the solution was clear. The organic layer was isolated and the aqueous layer was extracted with
ethyl acetate (240 ml). The combined organic phases were washed with brine (100 ml), dried with
sodium sulphate and concentrated under reduced pressure to give the crude product as a white powder
which was purified further by means of column chromatography (silica gel; 10 % methanol in
dichloromethane and 1 % acetic acid), R=0.31 to give a white powder (3.49 g; 94 %), mp=210-212°C
after evaporation of residual acetic acid using a azeotrope with toluene. *H NMR (500 MHz; [Dg]-
DMSO; 353.15 K): & 3.07 (dd, J=16.4, 3.40 Hz, 1H), 3.70 (dd, J=16.3, 10.7 Hz, 1H), 5.15 (s, 2H),
5.93 (dd, J=10.7, 3,7 Hz, 1H), 6.99 (td, J=7.44, 1.09 Hz, 1H), 7.17-7.23 (m, 4H), 7.25-7.33 (m, 3H),
7.68-7.73 (m, 1H). °C NMR (75 MHz; [Dg]-DMSO; 353.15 K): § 35.6, 52.3, 52.4, 53.7, 108.7, 117.8,
123.8, 124.5, 126.7, 126.9, 127.0, 127.4, 127.9, 129.0, 135.8, 150.3, 159.7. IR (neat) vy 2976, 2852,

1715, 1483, 1392, 1143, 1033, 744 cm’™.

(S)-(-)-Indoline-2-yl-1H-tetrazole (1)

Based on a reported procedure® (S)-1-(Benzyloxycarbonyl)-indoline-2-yltetrazole (6) (2.91g; 9.04
mmol) was dissolved in 100 ml (9:1) (acetic acid: water). To this homogenous solution was added (0.4
g) palladium on carbon. The flask was placed under a hydrogen atmosphere and stirred at 60°C for 15
hours. The solution was filtrated through celite and concentrated under reduced pressure to give the
crude product as a dightly yellow crystalline material. The crystalline material was dissolved in a
mixture of dimethylformamide and methanol and 7 g of a macroporous polystyrene-sulfonic acid (MP-
TsOH) was added to the homogenous solution and the mixture was stirred for one hour. The resin was

washed with three times 40 ml dimethylformamide:methanol mixture and compound was released using

S8



200 ml of sat. ammonia in dimethylformamide:methanol mixture. The solution was concentrated under
reduced pressure to give a light yellow crystalline residue which was crystallized from methanol to give
the title compound as an white solid (1.56 g; 92 %); mp 243-245 °C. [a]"5=-14.96 (c=1, DMF); *H
NMR (500 MHz; [Dg]-DM SO; 273.15 K) & 3.08 (dd, J=15.8, 8.79 Hz, 1H), 3.46 (dd, J=15.8, 9.82 Hz,
1H), 5.20 (dt, J=9.26, 0.85 Hz, 1H), 6.10-6.40 (brs, 1H), 6.584 (d, J=7.58 Hz, 1H), 6.615 (td, J=7.32,
0.97 Hz, 1H), 6.974 (td, J=7.58, 1.08 Hz, 1H), 7.055 (dd, J=7.32, 0.97 Hz, 1H); *C NMR (75 MHz;
[De]-DMSO) & 36.1, 48.6, 52.5, 109.1, 118.2, 124.3, 126.9, 127.5, 150.6; IR (neat): vy 3348, 2936,
1604, 1568, 1243, 1052, 835; Anal. Calcd for CgHgNs: C, 57.74; H, 4.85; N, 37.41. Found: C, 57.3; H,

4.9; N, 37.1; HPLC-MS: R, = 5.0 min, MS (ESI) n/z: 188.3 [M+H]".

General procedurefor catalytic asymmetric cyclopropanation

To a 30 ml flask equipped with a magnetic stirring bar was added the aldehyde (0.508 mmol) and
chloroform 21 ml. The mixture was cooled to the desired temperature and stirred for an additional 20
minutes. To the chilled mixture was then added either (S)-(-)-indoline-2-carboxylic acid (2) (4.2 mg;
0.026 mmol) or (S)-(-)-indoline-2-yl-1H-tetrazole (1) (4.8 mg; 0.026 mmol) and 2-(dimethyl-A*
sulfanylidene)-1-phenyl-ethanone (23 mg; 0.127 mmol) or 2-(dimethyl-1*-sulfanylidene)-1-(4 -
bromophenyl)-ethanone (33 mg; 0.127mmol). The homogenous solution was stirred between 24-48
hours after which the cold solution was filtered through a pad of silica eluting with diethyl ether. The
filtrate was concentrated under reduced pressure to give crude products as yellow oils which were

further purified by means of column chromatography.

S9



(1R, 2S, 3R)-2-Benzoyl-3-propyl-cyclopr opanecar baldehyde 8a (Table 2, entry 1):

Prepared according to general procedure from trans-2-hexenal (59 ul; 50mg; 0.508 mmoal), 2-(dimethyl-
A%-sulfanylidene)-1-phenyl-ethanone and (S)-(-)-indoline-2-yl-1H-tetrazole to give the pure product as a
light yellow oil (22.6 g mg; 82 % yield; 99 % ee; 32:1 dr) after column chromatography (silica gel, 10
% Et,0 in n-pentane), R=0.21 . *H NMR (500MHz; CDCl5) & 9.36 (d, J=6.58 Hz, 1H), 8.00-7.96 (m,
2H), 7.59 (tt, J=7.31, 1.21 Hz, 1H), 7.51-7.47 (m, 2H), 3.02 (dd, J=8.57, 6.13 Hz, 2H), 2.55-2.49
(m,1H), 2.12 (dt, J=8.51, 6.08 Hz, 1H), 0.96 (M, 3H). and *C NMR (100MHz; CDCl5) § 13.7, 22.0,
20.2, 30.3, 34.1, 34.7, 36.7, 40.2, 128.3, 128.7, 133.5, 137.0, 196.1, 199.3. [a]p=-12.23° (C=1.0,
CHCI3). The enantiomeric excess and diastereomeric excess was determined by GLC using Astec
Chiraldex p-DM (30 m * 0.25 mm), column (155 °C isotherm for 90 minutes), ramp to (175 °C, 5
°C/min and isotherm for 18 min) and ramp to (220 °C, 10 °C/min, hold 0.5 min). Major diastereomer:
maor enantiomer t,=31.8 min and minor enantiomer t=33.4 min. Minor diastereomer: major
enantiomer t,=20.1 min and minor enantiomer t,=19.8 min. MS (El): m/z (rdl intensity): 216 (M", 2),
217 (M*+1, 32), 218 (2), 174 (13), 173 (100), 172 (3), 146 (5), 145 (33), 144 (4), 117(23), 116(4),

115(13), 106(7), 105(82), 104(5), 78(5), 77(44), 76(3).
(1R, 2S, 3R)-2-Benzoyl-3-propyl-cyclopr opanecar baldehyde 8b (Table 3, entry 1):

Prepared according to general procedure from trans-2-hexenal (59 ul; 50mg; 0.50 mmol), 2-(dimethyl-
A%-sulfanylidene)-1-phenyl-ethanone and (S)-(-)-indoline-2-carboxylic acid to give the pure product as a
light yellow ail (20.3 mg; 74 % yield; 93 % ee; 31:1 dr) after column chromatography (silicagel, 10 %
Et,O in n-pentane), R=0.21. *H NMR (500MHz; CDCls) & 9.36 (d, J=6.6 Hz, 1H), 8.00-7.96 (m, 2H),
7.59 (tt, J=7.31, 1.21Hz, 1H), 7.51-7.47 (m, 2H), 3.02 (dd, J=8.57, 6.08 Hz, 2H), 2.55-2.48 (m, 1H),
2.12 (dt, J=8.66, 6.32 Hz, 1H), 1.65-1.45 (m, 4H), 0.96 (m, 3H). *C NMR (100MHz; CDCl3) § 13.7,
22.0, 29.2, 30.3, 34.1, 34.7, 40.2, 128.3, 128.7, 133.5, 137.0, 196.1, 199.3. [a]p=-15.28° (C=1.0,
CHCI3). The enantiomeric excess and diastereomeric excess was determined by GLC using Astec

Chiraldex p-DM (30 m * 0.25 mm), column (155 °C isotherm for 90 minutes), ramp to (175 °C, 5

S10



°C/min and isotherm for 18 min) and ramp to (220 °C, 10 °C/min, hold 0.5 min). Major diastereomer:
maor enantiomer t=31.8 min and minor enantiomer t=33.4 min. Minor diastereomer. major
enantiomer £,=20.4 min and minor enantiomer t,=19.6 min. MS (El) mvz (rdl. intensity): 216 (M", 3),
217 (M™+1, 51), 218 (8), 174 (13), 173 (100), 172 (4), 146 (5), 145 (35), 144 (4), 117(25), 116(4),

115(14), 106(8), 105(90), 104(3), 78(5), 77(45), 76(3)

(IR, 2S, 3R)-2-(4"-bromo-benzoyl)-3-propyl-cyclopropanecar baldehyde 9a (Table 2, entry 2):
Prepared according to general procedure from trans-2-hexenal (59 ul; 50mg; 0.508 mmoal), 2-(dimethyl-
A*-sulfanylidene)-1-(4”-bromophenyl)-ethanone and (S)-(-)-indoline-2-yl-1H-tetrazole to give the pure
product as a light yellow oil (27.7 mg; 74 % yield; 99 % ee; 31:1 dr) after column chromatography
(silica gel, 10 % Et,0 in n-pentane), R=0.1 . *H NMR (500MHz, CDCls) & 9.36 (d, J=6.6 Hz, 1H),
7.86-7.82 (m, 2H), 7.64-7.61 (m, 2H), 2.95 (dd, J=8.54, 6.09 Hz, 1H), 2.52-2.19 (m, 1H), 2.13 (dt,
J=8.52, 6.24 Hz, 1H), 1.65-1.45 (m, 4H) 0.96 (m, 3H). *C NMR (100MHz, CDCl;) § 13.7, 22.0, 29.4,
30.3, 34.1, 34.6, 40.2, 128.8, 129.8, 132.1, 135.7, 195.1, 199.0. [a]p=-16.28° (C=1.0, CHCIs). The
enantiomeric excess and diastereomeric excess was determined by GLC using Astec Chiraldex 3-DM
(30 m* 0.25 mm), column (180 °C isotherm for 110 minutes), ramp to (220 °C, 10 °C/min, hold 0.50
min). Major diastereomer: major enantiomer t,=39.5 min and minor enantiomer t,=40.6 min. Minor
diastereomer: major enantiomer t,=23.1 min and minor enantiomer t,=22.5 min. MS (El) m/z (rdl.
intensity): 294 (M, 1), 295 (M*+1, 4), 296 (2), 251 (99), 252 (15), 253 (100), 254 (13), 183 (65), 184
(8), 185(65), 186(7), 155(23), 156(4), 157(26), 158(12), 144(37), 145(9), 115(14), 116(17), 117(4),

118(1).

(1R, 2S, 3R)-2-(4"-bromo-benzoyl)-3-propyl-cyclopropanecar baldehyde 9b (Table 3, entry 2):
Prepared according to general procedure from trans-2-hexenal (59 ul; 50mg; 0.50 mmol), 2-(dimethyl-
A%-sulfanylidene)-1-(4"-bromophenyl)-ethanone and (S)-(-)-indoline-2-carboxylic acid to give the pure
product as a light yellow oil (24.6 mg; 66 % yield; 93 % ee; 32:1 dr) after column chromatography

(silica gdl, 10 % Et,0 in n-pentane), R=0.1. *H NMR (500MHz, CDCl,) & 9.36 (d, J=6.6 Hz, 1H),

S11



7.86-7.82 (m, 2H), 7.64-7.61 (m, 2H), 2.95 (dd, J=8.54, 6.09 Hz, 1H), 2.52-2.19 (m, 1H), 2.13 (dt,
J=8.52, 6.24 Hz, 1H), 1.65-1.45 (m, 4H) 0.96 (m, 3H). *C NMR (100MHz, CDCl;) § 13.7, 22.0, 29.2,
30.3, 34.1, 34.7, 40.2, 128.3, 128.7, 133.5, 137.0, 196.1, 199.3. [a]p=-14.88° (C=1.0, CHCIs). The
enantiomeric excess and diastereomeric excess was determined by GLC using Astec Chiraldex 3-DM
(30 m * 0.25 mm), column (180 °C isotherm for 110 minutes), ramp to (220 °C by 10 °C/min, hold
0.50 min). Major diastereomer: magor enantiomer t,=39.3 min and minor enantiomer t,=40.4 min.
Minor diastereomer: major enantiomer t,=23.6 min and minor enantiomer t,=23.1 min MS (El) nVz (rel.
intensity): 294 (M*, 1), 295 (M*+1, 5), 296 (1), 251 (98), 252 (14), 253 (100), 254 (12), 183 (61), 184
(7), 185(63), 186(7), 155(22), 156(4), 157(24), 158(12), 144(35), 145(7), 115(14), 116(18), 117(4),

118(1)
(1R, 2S, 3R)-2-Benzoyl-3-methyl-cyclopr opanecar baldehyde 10a (Table 2, entry 3):

Prepared according to general procedure from crotonaldehyde (59 ul; 50mg; 0.50 mmol), 2-(dimethyl-
A%-sulfanylidene)-1-phenyl-ethanone and (S)-(-)-indoline-2-yl-1H-tetrazole to give the pure product as a
light yellow ail (20.2 mg; 85 % yield; 99 % ee; 22:1 dr) after column chromatography (silica gdl; 10 %
Et,O in n-pentane), R=0.2. 'H NMR (500MHz; CDCl,) & 9.35 (d, J=6.58 Hz, 1H), 8.00-7.96 (m, 2H),
7.60 (tt, J=8.78, 1.25 Hz, 1H), 7.52-7.47 (m, 2H), 2.99 (dd, J=8.53, 6.09 Hz, 1H), 2.53 (ddq, J=12,1,
6.3, 6.1 Hz, 1H), 2.12 (ddd, J=8.56, 6.38, 5.56 Hz, 1H), 1.37 (d, J=6.11 Hz, 3H). and *C NMR
(100MHz; CDCly) 6 17.3, 24.2, 35.1, 39.5, 42.3, 129.1, 129.5, 133.9, 136.4, 196.6, 199.5. [a]p=-7.89°
(C=1.0, CHCIl3). The enantiomeric excess was determined by GLC using Astec Chiraldex 6-TA (30 m *
0.25 mm), column (160 °C isotherm for 60 minutes), ramp to (180 °C by 10 °C/min, hold 0.5 min).
Major diastereomer: major enantiomer t,=10.3 min and minor enantiomer t,=11.2 min. MS (El) m/z
(rel. intensity): 187 (M*, 1), 171 (4), 144 (3), 115 (10), 105 (100), 89 (2), 77 (46), 69 (5), 51(22). The

diastereomeric ratio was determined by *H NMR analysis on the crude reaction mixture.

(1R, 2S, 3R)-2-Benzoyl-3-methyl-cyclopr opanecar baldehyde 10b (Table 3, entry 3):

S12



Prepared according to general procedure from crotonaldehyde (59 ul; 50mg; 0.50 mmol), 2-(dimethyl-
A%-sulfanylidene)-1-phenyl-ethanone and (S)-(-)-indoline-2-carboxylic acid to give the pure product as a
light yellow ail (16 mg; 67 % yield; 89 % ee; 20:1 dr) after column chromatography (silica gel, 10 %
Et,O in n-pentane), R=0.2. *H NMR (500MHz; CDCl;) § 9.35 (d, J=6.58 Hz, 1H), 8.00-7.96 (m, 2H),
7.60 (tt, J=8.78, 1.25 Hz, 1H), 7.52-7.47 (m, 2H), 2.99 (dd, J=8.53, 6.09 Hz, 1H), 2.53 (ddq, J=12,1,
6.3, 6.1 Hz, 1H), 2.12 (ddd, J=8.56, 6.38, 5.56 Hz, 1H), 1.37 (d, J=6.11 Hz, 3H). and *C NMR
(100MHz; CDCly) 6 17.3, 24.2, 35.1, 39.5, 42.3, 129.1, 129.5, 133.9, 136.4, 196.6, 199.5. [a]p=-5.67°
(C=1.0, CHCIl3). The enantiomeric excess was determined by GLC using Astec Chiraldex 6-TA (30 m *
0.25 mm), column (160 °C isotherm for 60 minutes), ramp to (180 °C by 10 °C/min, hold 0.5 min).
Major diastereomer: major enantiomer t,=10.3 min and minor enantiomer t,=11.4 min. MS (El) m/z
(rel. intensity): 187 (M*, 1), 171 (5), 144 (3), 115 (10), 105 (100), 89 (2), 77 (45), 69 (5), 51(22). The

diastereomeric ratio was determined by *H NMR analysis on the crude reaction mixture.

(IR, 2R, 39)-2-Allyloxymethyl-3-benzoyl-cyclopropanecarbaldehyde 1la (Table 2, entry 4):
Prepared according to general procedure from (2E)-4-(allyloxy)-but-2-enal (64 mg; 0.508 mmal), 2-
(dimethyl-1*-sulfanylidene)-1-phenyl-ethanone and (S)-(-)-indoline-2-yl-1H-tetrazole to give the pure
product as a colorless ail (28.3 mg; 91 % yield; 99 % ee; 41:1 dr) after column chromatography (silica
gel, 10 % Et,0 in n-pentane), R=0.09. *H NMR (500MHz; CDCl3) & 9.4 (d, J=6.49 Hz, 1H), 8.03-8.00
(m, 2H), 7.62-7.57 (m, 1 HZ), 7.51-7.46 (m, 2H), 5.88 (ddt, J=17.2, 10.3, 5.62 Hz, 1H), 5.27 (dqd,
J=17.2, 10.3, 0.23 Hz, 1H), 5.21 (dq, J=10.3, 1.34 Hz, 1H), 4.03-3.99 (m, 2H), 3.72 (dd, J=10.3, 4.87
Hz, 1H), 3.58 (dd, J=10.5, 5.4 Hz, 1H), 3.25 (dd, J=8.81, 6.14 Hz, 1H), 2.77 (m, 1H), 2.33 (dt, J=8.81,
6.23 Hz, 1H)."*C NMR (100MHz; CDCls) § 27.6, 30.3, 31.8, 36.6, 68.5, 71.9, 117.4, 128.4, 128.7,
133.6, 134.1, 136.8, 146.2, 195.6, 198.8. [a]p=-6.33° (C=1.0, CHCI5). The enantiomeric excess and
diastereomeric excess was determined by GLC using Astec Chiraldex 3-DM (30 m * 0.25 mm), column
(177° C isotherm for 120 minutes), ramp to (220° C by 10° C/min), hold 220° C for 0.5 min. Major

diastereomer: major enantiomer t,=28.7 min and minor enantiomer t,=29.7 min. Minor diastereomer:

S13



major enantiomer t,=13.1 min and minor enantiomer t,=13.4 min. MS (El) m/z (rel. intensity): 244 (M",

2), 245 (M*+1, 52), 173 (100), 117 (26), 116 (4), 105 (75), 104 (2), 77 (38), 76 (2).

(IR, 2R, 39)-2-Allyloxymethyl-3-benzoyl-cyclopropanecarbaldehyde 11b (Table 3, entry 4):
Prepared according to general procedure from (2E)-4-(allyloxy)-but-2-enal (64 mg; 0.50 mmol), 2-
(dimethyl-1*-sulfanylidene)-1-phenyl-ethanone and (S)-(-)-indoline-2-carboxylic acid to give the pure
product as a colorless il (24 mg; 77 % yield; 91 % ee; 23:1 dr) after column chromatography (silica
gel, 10 % Et,0 in n-pentane), R=0.09. *H NMR (500MHz; CDCl3) & 9.4 (d, J=6.49 Hz, 1H), 8.03-8.00
(m, 2H), 7.62-7.57 (m, 1 HZ), 7.51-7.46 (m, 2H), 5.88 (ddt, J=17.2, 10.3, 5.62 Hz, 1H), 5.27 (dqd,
J=17.2, 10.3, 0.23 Hz, 1H), 5.21 (dq, J=10.3, 1.34 Hz, 1H), 4.03-3.99 (m, 2H), 3.72 (dd, J=10.3, 4.87
Hz, 1H), 3.58 (dd, J=10.5, 5.4 Hz, 1H), 3.25 (dd, J=8.81, 6.14 Hz, 1H), 2.77 (m, 1H), 2.33 (dt, J=8.81,
6.23 Hz, 1H). *C NMR (100MHz; CDCl5) § 27.6, 30.3, 31.9, 36.6, 68.5, 71.7, 117.4, 128.6, 128.7,
133.6, 134.1, 136.8, 146.2, 195.6, 198.8. [a]p=-8.67° (C=1.0, CHCI5). The enantiomeric excess and
diastereomeric excess was determined by GLC using Astec Chiraldex 3-DM (30 m * 0.25 mm), column
(177° C isotherm for 120 minutes), ramp to (220° C by 10° C/min), hold 220° C for 0.5 min. Major
diastereomer: major enantiomer t,=28.9 min and minor enantiomer t,=29.9 min. Minor diastereomer:
major enantiomer t,=13.0 min and minor enantiomer t,=13.4 min. MS (El) mVz (rel. intensity): 244 (M",

4), 245 (M*+1, 48), 173 (100), 117 (23), 116 (7), 105 (78), 104 (2), 77 (38), 76 (4).

(IR, 2R, 39)-2-Allyloxymethyl-3-(4"-bromo-benzoyl)-cyclopr opanecar baldehyde 12a (Table 2,
entry 5): Prepared according to general procedure from (2E)-4-(allyloxy)-but-2-enal (64 mg; 0.508
mmol), 2-(dimethyl-A*sulfanylidene)-1-(4 -bromophenyl)-ethanone and  (S)-(-)-indoline-2-yl-1H-
tetrazole to give the pure product as a colorless ail (34.1 mg; 83 % yield; 99 % ee; 43:1 dr) after column
chromatography (silica gel, 10 % Et,O in n-pentane), R=0.06. *H NMR (500MHz, CDCl;) § 9.38 (d,
J=6.34 Hz, 1H), 7.9-7.86 (m, 2H), 7.64-7.61 (m, 2H), 5.88 (ddt, J=17.2, 10.4, 5.6 Hz, 1H), 5.27 (dq,
J=17.2, 1.57 Hz, 2H), 5.21 (ddg, J=10.4, 1.59, 1.21 Hz, 1H), 4.03-4.00 (m, 2H), 3.74 (dd, J=10.4,

4,59 Hz, 1H), 3.55 (dd, J=10.4, 5.5 Hz, 1H), 3.19 (dd, J=8.81, 6.11 Hz, 1H), 2.78-2.72 (m, 1H), 2.34

S14



(dt, 8.82, 6.21). °C NMR (100MHz, CDCl,) & 27.9, 30.3, 31.8, 36.5, 68.4, 71.9, 117.5, 130.0(2C),
132.0(2C), 134.1, 135.5, 194.7, 198.5. [0a]p=-16.9° (C=1.0, CHCI;). The enantiomeric excess and
diastereomeric excess was determined by GLC using Astec Chiraldex 3-DM (30 m * 0.25 mm), column
(200 °C isotherm for 130 minutes), ramp to (220 °C by 10 °C), hold 0.5 min. Major diastereomer:
maor enantiomer t,=32.6 min and minor enantiomer t,=33.3 min. Minor diastereomer: major
enantiomer t,=21.3 min and minor enantiomer t,=21.9 min. MS (El) m/z (rel. intensity): 323 (M1, 7),
325 (7), 283 (5), 281 (8), 280 (1), 253 (97), 252 (16), 251 (100), 250 (4), 185(53), 184(8), 183(55),

182(2), 157(22), 156(4), 155(21), 154(1).

(IR, 2R, 39)-2-Allyloxymethyl-3-(4"-br omo-benzoyl)-cyclopr opanecar baldehyde 12b (Table 3,
entry 5): Prepared according to general procedure from (2E)-4-(allyloxy)-but-2-enal (64 mg; 0.508
mmol), 2-(dimethyl-1*sulfanylidene)-1-(4 -bromophenyl)-ethanone and (S)-(-)-indoline-2-carboxylic
acid to give the pure product as a colorless oil (32.1 mg; 78 % yield; 88 % ee; 28:1 % de) after column
chromatography (silica gel, 10 % Et,O in n-pentane), R=0.06. *H NMR (500MHz, CDCl;) § 9.38 (d,
J=6.34 Hz, 1H), 7.9-7.86 (m, 2H), 7.64-7.61 (m, 2H), 5.88 (ddt, J=17.2, 10.4, 5.6 Hz, 1H), 5.27 (dq,
J=17.2, 1.57 Hz, 2H), 5.21 (ddg, J=10.4, 1.59, 1.21 Hz, 1H), 4.03-4.00 (m, 2H), 3.74 (dd, J=10.4,
4.59 Hz, 1H), 3.55 (dd, J=10.4, 5.5 Hz, 1H), 3.19 (dd, J=8.81, 6.11 Hz, 1H), 2.78-2.72 (m, 1H), 2.34
(dt, 8.82, 6.21). °C NMR (100MHz, CDCl5) & 27.9, 30.3, 31.8, 36.5, 68.4, 71.9, 117.5, 130.0(2C),
132.0(2C), 134.1, 135.5, 194.7, 198.5. [0]p=-8.63° (C=1.0, CHCl;). The enantiomeric excess and
diastereomeric excess was determined by GLC using Astec Chiraldex 3-DM (30 m * 0.25 mm), column
(200 °C isotherm for 130 minutes), ramp to (220 °C by 10 °C), hold 0.5 min. Major diastereomer:
major enantiomer t,=32.8 min and minor enantiomer t,=33.4 min. Minor diastereomer: major
enantiomer t,=21.5 min and minor enantiomer t,=22.2 min. MS (El) m/z (rel. intensity): 322 (M",1),
323 (11), 324 (3), 325 (10), 253 (100), 252 (15), 251 (96), 250 (4), 225 (19), 224 (4), 223 (19), 222

(1), 185 (46), 184(6), 183(47), 182(2), 157(18), 156(4), 155(17), 154(1).

S15



(1R, 2S, 3R)-2-(4"-bromo-benzoyl)-3-hex-5-enyl-cyclopropanecar baldehyde 13a (Table 2, entry
6): Prepared according to general procedure from (E)-2,7-octadienal (63.1mg; 0.508 mmol), 2-
(dimethyl-1*-sulfanylidene)-1-(4"-bromophenyl)-ethanone and (S)-(-)-indoline-2-yl-1H-tetrazole to give
the pure product as a light yellow oil (32 mg; 86 % vyield;, 99 % ee; 29:1 dr) after column
chromatography (silica gel, 10 % Et,0 in n-pentane), R=0.1. *"H NMR (500MHz; CDCl3) & 9.33 (d,
J=6.6 Hz, 1H), 7.86-8.10 (m, 2H), 7.64-7.60 (m, 2, 1H), 5.76 (ddt, J=17.1, 10.3, 6.57 Hz, 1H), 5.04-
4.94 (m, 2H), 2.95 (dd, J=8.51, 6.1 Hz, 1H), 2.50 (ddt, J=12.4, 6.4, 6.4 Hz, 1H), 2.15-2.07 (m, 3H),
1.64-1.50 (m, 6H). BCNMR (100MHz; CDCly) 6 27.9, 29.3, 29.7, 31.4, 33.1, 34.5, 40.2, 115.2, 128.9,
129.8, 132.1, 135.7, 137.9 195.0, 198.9. [a]p=-18.23° (C=1.0, CHCI5). The enantiomeric excess and
diastereomeric excess was determined by GLC using Astec Chiraldex 3-DM (30 m * 0.25 mm), column
(195° C isotherm for 150 minutes), ramp to 220 °C by 10 °C/min, 220 °C hold 0.5 minutes. Major
diastereomer: major enantiomer t,=41.9 min and minor enantiomer t,=42.55 min. Minor diastereomer:
major enantiomer t,=26.8 min and minor enantiomer t,=26.3 min. MS (El) nV/z (rel. intensity): 334
(M*,1), 323 (4), 322 (2), 321 (5), 320 (2), 279 (15), 278 (5), 277 (14), 276 (2), 253 (69), 252 (14), 251
(76), 250 (5), 225 (22), 224 (7), 223 (24), 222 (4), 185 (100), 184(13), 183(96), 182(3), 157(44),

156(6), 155(38), 154(3).

(1R, 2S, 3R)-2-(4"-bromo-benzoyl)-3-hex-5-enyl-cyclopropanecar baldehyde 13b (Table 3, entry
6): Prepared according to general procedure from (E)-2,7-octadienal (63.1mg; 0.508 mmol), 2-
(dimethyl-1*-sulfanylidene)-1-(4 -bromophenyl)-ethanone and (S)-(-)-indoline-2-carboxylic acid to give
the pure product as a light yelow oil (30.2 mg; 71 % vyied; 93 % ee 25:1 dr) after column
chromatography (silica gel, 10 % Et,0 in n-pentane), *H NMR (500MHz; CDCl3) & 9.33 (d, J=6.6 Hz,
1H), 7.86-8.10 (m, 2H), 7.64-7.60 (m, 2, 1H), 5.76 (ddt, J=17.1, 10.3, 6.57 Hz, 1H), 5.04-4.94 (m,
2H), 2.95 (dd, J=8.51, 6.1 Hz, 1H), 2.50 (ddt, J=12.4, 6.4, 6.4 Hz, 1H), 2.15-2.07 (m, 3H), 1.64-1.50
(m, 6H). *C NMR (100MHz; CDCls) § 27.9, 29.3, 30.3, 31.4, 33.0, 34.5, 40.2, 115.2, 128.8, 129.7,
132.0, 135.6, 137.8, 195.0, 198.9. [0]p=-14.4° (C=1.0, CHCI3). The enantiomeric excess and

diastereomeric excess was determined by GLC using Astec Chiraldex -DM (30 m * 0.25 mm), column

S16



(195° C isotherm for 150 minutes), ramp to 220 °C by 10 °C/min, 220 °C hold 0.5 minutes. Major
diastereomer: major enantiomer t,=41.5 min and minor enantiomer t,=42.2 min. Minor diastereomer:
major enantiomer t,=26.6 min and minor enantiomer t,=26.2 min. MS (El) nVz (rel. intensity): 334
(M*,1), 323 (8), 322 (4), 321 (8), 320 (2), 225 (23), 224 (12), 223 (22), 222 (4), 185 (100), 184(13),

183(98), 182(4), 157(41), 156(7), 155(36), 154(4).

(1R, 2S, 3R)-2-Benzoyl-3-phenyl-cyclopropanecarbaldehyde 14a (Table 2, entry 7).
Prepared according to general procedure from trans-cinnamaldehyde (68 mg; 0.508 mmoal), 2-
(dimethyl-1*-sulfanylidene)-1-phenyl-ethanone and (S)-(-)-indoline-2-yl-1H-tetrazole to give the pure
product as a colorless ail (29.8 mg; 94 % yield; 99 % ee; 35:1 dr) after column chromatography (silica
gel, 10 % Et,0 in n-pentane), R=0.15. *H NMR (500MHz, CDCl5) § 9.59 (d, J=6.08 Hz, 1H), 8.02-
7.98 (m, 2H), 7.63-7.59 (m, 2H), 7.52-7.47 (m, 2H), 7.39-7.33 (m, 2H), 7.32-7.28 (m, 1H), 7.25-7.21
(m, 2H), 3.61 (t, J=6.11 Hz, 1H), 3.48 (dd, J=9.02, 6.1 Hz, 1H), 2.68 (ddd, J=8.91, 6.3, 6.1 Hz, 1H).
3C NMR (100MHz; CDCl,) 6 32.4, 36.7, 40.8, 126.6 (2C), 127.6, 128.4 (2C), 128.8 (2C), 128.9 (2C),
133.7, 136.9, 137.0, 195.0, 197.7. [0a]p=-166.9° (C=1.0, CHCI;). The enantiomeric excess was
determined by HPLC analysis after reduction of the aldehyde to the corresponding alcohol. (1R, 2S
3R)-2-Benzoyl-3-phenyl-cyclopropanecarbaldehyde (14a) (29.8 mg; 0.12 mmol) was carefully
dissolved in 1 ml (methanol:AcOH/AcONa buffer pH=4.5) (1:1) after which (1.2 eqg, 7.54 mg, 0.144
mmol) of sodium cyanoborohydride was added. The mixture was stirred at room temperature for 6
hours after which the mixture was concentrated at reduced pressure to give white residue. The residue
was diluted with 1 ml saturated NaCl and then extracted 3 times with ethyl acetate. The combined
organic phases were dried with Na,SO, filtered, concentrated to give crude product which was further
purified by means of column chromatography (silica gel, 30 % ethyl acetate in n-pentane), R=0.75, to
give pure product primary alcohol (15a) as a colorless oil (28.8 mg, 95 %). *H NMR (500MHz; CDCl3)
§ 8.02-7.98 (m, 2H), 7.60-7.53 (m, 1H), 7.35-7.28 (m, 2H), 7.27-7.14 (m, 5H), 4.15 (m, 2H), 3.90 (dd,
J=12.1, 8.29 Hz, 1H), 3.02 (dd, J=8.79, 5.14 Hz, 1H), 2.94 (td, J=5.69, 1.31 Hz, 1H), 2.42-2.33 (m,

1H). The anantiomeric excess was determined by HPLC equipped with chiral column Chiralcel AD (25

S17



% 2-propanol in hexane, 1ml/min, 254 nm); major diastereomer: major enantiomer t= 22.15 min.

Minor diastereomer: mgor enantiomer t,=12.3 min and minor enantiomer t,=13.8 min.

S18



(1R, 2S, 3R)-2-Benzoyl-3-phenyl-cyclopropanecarbaldehyde 14b (Table 3, entry 7).
Prepared according to general procedure from trans-cinnamaldehyde (68 mg; 0.508 mmoal), 2-
(dimethyl-1*-sulfanylidene)-1-phenyl-ethanone and (S)-(-)-indoline-2-carboxylic acid to give the pure
product as a colorless ail (25.8 mg; 81 % yield; 93 % ee; 32:1 dr) after column chromatography (silica
gel, 10 % Et,0 in n-pentane), R=0.15. *H NMR (500MHz, CDCl5) § 9.59 (d, J=6.08 Hz, 1H), 8.02-
7.98 (m, 2H), 7.63-7.59 (m, 2H), 7.52-7.47 (m, 2H), 7.39-7.33 (m, 2H), 7.32-7.28 (m, 1H), 7.25-7.21
(m, 2H), 3.61 (t, J=6.11 Hz, 1H), 3.48 (dd, J=9.02, 6.1 Hz, 1H), 2.68 (ddd, J=8.91, 6.3, 6.1 Hz, 1H).
3C NMR (100MHz; CDCl,) 6 32.4, 36.7, 40.8, 126.6 (2C), 127.6, 128.4 (2C), 128.8 (2C), 128.9 (2C),
133.7, 136.9, 137.0, 195.0, 197.7. [a]p=-165.6° (C=1.0, CHCI;). The enantiomeric excess was
determined by HPLC analysis after reduction of the aldehyde to the corresponding alcohol. (1R, 2S
3R)-2-Benzoyl-3-phenyl-cyclopropanecarbaldehyde (14b) (25.8 mg; 0.103 mmol) was carefully
dissolved in 1 ml (methanol:AcOH/AcONa buffer pH=4.5) (1:1) after which (1,2 eq, 7.2 mg, 0.124
mmol) of sodium cyanoborohydride was added. The mixture was stirred at room temperature for 6
hours after which the mixture was concentrated at reduced pressure to give white residue. The residue
was diluted with 1 ml saturated NaCl and extracted 3 times with ethyl acetate. The combined organic
phases were dried with Na,SO, filtered, concentrated to give crude product which was further purified
by means of column chromatography (silica gel, 30 % ethyl acetate in n-pentane), R=0.75, to give pure
product primary alcohol (15b) as a colorless ail (16.6 mg, 65 %). *H NMR (500MHz; CDCl3) § 8.02-
7.98 (m, 2H), 7.60-7.53 (m, 1H), 7.35-7.28 (m, 2H), 7.27-7.14 (m, 5H), 4.15 (m, 2H), 3.90 (dd,
J=12.1, 8.29 Hz, 1H), 3.02 (dd, J=8.79, 5.14 Hz, 1H), 2.94 (td, J=5.69, 1.31 Hz, 1H), 2.42-2.33 (m,
1H). The anantiomeric excess was determined by HPLC equipped with chiral column Chiralcel AD (25
% 2-propanol/hexanes, 1ml/min, 254 nm); major enantiomer t,= 22.35 min and minor enantiomer t,=

29.70 min. Minor diastereomer: magjor enantiomer t,=11.8min and minor enantiomer t,=13.1 min.

S19



References

(1) Garzia=Goémez, G.; Moret6, J. M. Eur. J. Org. Chem. 2001, 7, 1359.

(2) Diedrich, M. K.; Klarner, F-G.; Beno, B. R.; Houk, K. N.; Senderowitz, H.; Still, C. W. J. Am.

Chem. Soc. 1997, 119, 43, 10255.

(3) () Payne, B. G. J. Org. Chem. 1967, 32, 3351. (b) Ratts, K. W.; Yao, A. N. J. Org. Chem. 1966,

31, 1185. (c) Trost, B. M. J. Am. Chem. Soc. 1967, 89, 1, 138.

(4) (@) Bergmann, M.; Zervas, L. Chem.Ber. 1932, 65, 1192. (b) Corey, E. J.; Shibata, S.; Bakshi, R.

K. J. Org. Chem. 1988, 53, 2861.

(5) Pozdnev, V. F. Tetrahedron Letters. 1995, 36, 7115.

(6) (a) Spero, D. M.; Kapadia, S. R. J. Org. Chem. 1996, 61, 7398. (b) Olah, G. A.; Narang, S.; Fung,

A. P.; Gupta, G. B. Synthesis. 1980, 8, 657.

(7) (@) Demko, Z. P.; Sharpless, K. B. Org. Lett. 2002, 4, 2525. (b) Huisgen, R. Pure Appl. Chem.

1989, 61, 613.

(8) Almquist, G. R.; Chao, W.; White-Jennings, C. J. Med. Chem. 1985, 28, 1067.

S20



Figure1: 'H NMR of (3) at 25 °C.

() -1- (Benzyloxycarbonyl) -indoline-2-car

boxylic acid

exp2  s2pul

samMpLE
date  Dec 18 2006
solvent D

file /export/home/-
users/antti/spectr~
a/Ancti/Cycloprapa-
nation_project/Cat-

DISPLAY
sp 1052.0
wp 6232.8
vs 157
sc o
we 250
hzmn 24.93
is 158.43
1 4748.4
fp 1244.9
th 7
ins 1.000
o cde ph

5

1
wetile

math

not used
£

12 11 10 9 8

S21




Figure2: 'H NMR of (3) at 80 °C.

(S) -1- (Benzyloxycarbonyl)
boxylic acid temp=80

indoline-2-car

exp2  s2pul

saMPLE DEC. & VT
date Dec 18 2006 dfrg 499,942
solvent DO dn

file /export/home/- dpur 30

ap y W
hs o
DISPLAY
s 1136.8
wp 2904.8
vs 112
sc o
ve 250
hzmm 11.62
is 322.99
1 1503.3
rfp 0
th B
ins 1.000

o cde ph

S22



Figure 3: 3C NMR of (3) at 80 °C

(S) -1-1 (Benzyloxycarbonyl) - Indoline-2-ca
rboxylic acid

expl  stdiic

SAMPLE DEC. &
date Dec 18 2006 dfrq

solvent DMSO dn 1
file /mercury/user- dpwr 37

s/pradeep/spectra/~ dof
Antei s 1 Benzylox- d

yearbonyl Indoline- dmm

o
1es06
not used
o ¥ -3 @
DIsPLAY 253 8
p 1981.4 e 2
wp 11436.6 e 3
ve 150 S
sc o
e 250
hamn 15.75
is 500.00
1 862.8 w
rip 2980.0 5
th 5 :
in 100.000 g
o ono ph
y W L Py Wi y L) Ll ™ i f Lt e Liaiald

39.777
39.500
39.223

38.665

1.938

S23



Figure4: 'H NMR of (4) at 25 °C.

() -1- (Benzyloxycarbonyl) -Indoline-2-car
boxamide temp=25

exp2  s2pul
sawpLE bEC. & VT
Gate  Dec 13 2006 dfrg 499,942
solvent DMSO dn
file /export/home/~ dpur 30
users/antti/spectr~ dof o
a/Antti/Cyclopropa- dm nnn
nation project/Cat- dmm c
200
1.0
60.0
DEC2
o
2
at. 3.000 dpwrz 1
np 48000 dof2 o
ow 8000.0 dmz n
fo 4000 dmm2 c
16 dmf2 200

S24



Figure5: *H NMR of (4) at 80 °C.

() -1- (Benzyloxycarb
boxamide temp=30

exp2  s2pul

sampLE
date  Dec 13 2006
solvent cdels
file /export/home/~

onyl) - Indoline-2-car
DEC. & VT
arrg 499.940
an L
dpur 30
£ o
200
1.0
80.0
DEC2

o
1
o
200

PROCESSING

1 20
wetile

n not used
math £

T
6.5

5.5

S25



Figure 6: °C NMR of (4) at 80 °C

() -1- (Benzyloxycarbonyl) - Indoline-2-car
boxamide

expl  stdiic

SAMPLE

date  Dec 18 200
solvent DhsO
file /mercury/user~
s/pradeep/spectra/~

yearbonyl Indoline-
2_carboxamide_13C-
MIR_20061218.£1d
ACQUISITION

18
wexp
wnt
2
er0s
o
alock n
gain not used
FLAGS

39.781

40.058

38.669

66.197
60.118
32.856

27.514

S26



Figure 7: *H NMR of (5) at 25 °C.

nyl) -Indoline-2-car

() -1- (Benzyloxycarbor
mp=25 1HNMR 20061213

bonitrile ti

exp2  s2pul

saupLE DEC. & VT
date Dec 13 2006 dfrg 499,942
solvent DiSO dn H
file /export/home/- dpur 30
users/antti/spectr- dof o

a/Ancti/Cyclopropa- dr
nation_project/Cat- dmm

1 0.2¢
wetile

proc £
n not used
math £

nm cde ph

S27



Figure8: 'H NMR of (5) at 60 °C.

() -1- (Benzyloxycarbonyl) -Indoline-2-car
bonitrile t; 0 1HNMR 20061213

exp2  s2pul

saupLE DEC. & VT
date Dec 13 2006 dfrg 499,942
solvent DO dn i
file /export/home/- dpur 3
users/antti/spectr- dof o
a/Ancti/Cyclopropa~ dm nnn

nation_project/Cat- dmm

ap y wexp

s nn wbs
DISPLAY wnt

s 1605.4

wp 2401.9

vs 100

sc o

we 250

hzmm 5.61

is 116.46

el 27495

fp 12449

th 7

ins 1.000

om cde

S28



Figure 9: *C NMR of (5) at 60 °C

(9)-1- (henzyloxycazbony1) -indol ine-2-ca

honitrile 13cmh. 2006158

ep1 sranse H
SAMPLE DEC. & VT SH S

dare “Dec 16 2008 atra . 300,031

aorvene " 1 Do i

Tt Jmercury/user- dpu 5

S/pratacp/spetral- dof o

bt i e

Yoarbanil taastina. dm :

- dmt

40.058
38.9a2

\ " A . e . . . . Y
w

T T
150 140 130 120 110 100 90 80 70 60 50 40 Hz

S29



Figure 10: *H NMR of (6) at 25 °C.

(8) -1- (Benzyloxycarbonyl) - Indoline-2-ylt
5

erazole temp=2!
expz s2pul
sampLE DEC. & VT
date Dec 13 2006 dfrg 199,942
solvent DMSO dn HL
file /export/home/~ dpur 30
users/antti/spectr~ dof o
a/Antti/Cyclopropa- dm nnn
nation_project/Cat~ dmm <
alyst synthesis/S_- dmf 200
1_Benzyloxycarbony- dseq
1 Tndoline_2_ylter~ dres 1.0
azole_temp_25_1HNM~ homo n
R_20061213.£id temp 25.0
ACQUISITION DEC2
sfrq 499.942 dfraz o
tn HI dn2
at 3.000 dpwrz 1
np 48000 dof2 o
ow 8000.0 dnz n
b 4000 amm2 o
16 dmez 200
towr 62 dseqz
pw 4.0 ares2 1.0
a 0 homoz
tof 3 PROCESSING
ne 1
et 1 weile
alock y proc £t
gain not used fn not used
s ath 3
i1 n
dp y wexp
hs m wbs
DISPLAY wnt
s 1120.9
wp 3030.3
vs 156
sc o
we 250
hzmn 12.12
is 176.70
fl 1503.7
rep o
th 7
ins 1.000
nm cde ph
/

S30



() -1- (Benzyloxycarbonyl) - Indoline-2-ylt
o

erazole temp=8
exp2 s2pul

SAMPLE

not used not used
FLAGS £

i n

ap y wexp

ne wbs
DISPLAY wnt

sp 1182.6

wp 2759.0

ve 194

sc 0

we 250

hzmm 11,04

is 157.33

rfl 27458

rfp 1244.5

7
s 1.000
nm cde ph

Figure 11: *H NMR of (6) at 80 °C.

T
7.5 7.0 6.5

S31



Figure 12: *C NMR of (6) at 80 °C

(S) -1- (Benzyloxycarbonyl) -2-yltetrazole
temp-80

expl  stdiic

SAMPLE

ap v
DISPLAY

sp 2275.2
wp 10598.7
vs 257
sc o
we 250
hzmn 12.39
is 500.00
£l 1863.9
rfp 2980.0
th s
ins 100.000
om no ph

108.678

40.335

0s8

20

35.500
39.223

35.550

S32

80

70

60

50

40

Hz



Figure 13: *H NMR of (1) at 25 °C.

(s)- (-

Indoline-2-yl-tetrazole (1)
exps  s2pul

SAMPLE DEC. & VT
date May 4 2007 dfrq 499.942
DhsO HL

file /export/nome/- dpur 3
users/antti/spectr- dof

a/Antti/Cyclopropa- dm nn
nation_project/s_I- dmm c
ndoline_2_yl_tetra- dmf 200

ACQUISITION

o
o
1
1

_ -

10 9 8

0

S33

87



Figure 14: *C NMR of (1) at 25 °C.

Indoline-2-y1-tetrazole (1)
exps stanse I .
oeC. & vr i
date vay 4 2007 atrq 300,031 salpas
S0 n iy
F1e Jmercury /user- dpur 5
s/antti/s_Indoline-~ dc o
2791 tetraore 1 - dn vy
30070306 13ceR 1 dmm i
& ant 7400
AcquistTion | temp 250
ot 75.450 | pRocESSTNG
b 1
tile
£
f not used
oo
o
)
.

140 120 100 80 60 40 20 0 ppm

S34



Figure 15: *H NMR of 8a (Table 2, entry 1) at 25 °C

Dihydroindol_tetrazole_generated 1R,2s,3
R-2-benzoyl-3-propyl-cyclopropanecarbald
ehyde_A329¢_after_chormatography

s2pul
saMPLE c. & v
date  Dec 499.940
solvent a e
file /export/home/- dpur 30
users/antti/spectr- dof o
a/Antti/Cyclopropa~ nnn

nation_project/A32~
9c_after_chromato:
061,

raphy_1HNIR_2

o

1 0.20
wetile

proc e
n not used
math £

S35

- Vo - . e JFURNNS | N
T T T T T T
6 5 4 3 2 ppm
2 1.08 4.0z
1.07 s.0a



Figure 16: *C NMR of 8a (Table 2, entry 1) at 25 °C

rydroindol -tetrazole generated (1R,2S.
3R) -2-benzoyl-3-propyl-cyclopropanecarba
1dehyde A239C

staise

SAMPLE DEC

ter_chromatograph

1
128.279

n not used

i
202
34.710
34.119
30.311
29.211
013

6.686

77.316
76.997

196.105
136.995

145.23

652

-

S36



Figure 17: GLC-M S determination of ee (major diastereomer) 8a (Table 2, entry 1).

BP 173 (260982=100%) a329c(tetrazole)002 sms

31.794 min. Scan: 1993 Chan: merged lon: NA RIC: 2053553 BC
173

100%— E
: 105
75%= =
3 i .
. | )
i | £
50% - - =
i 7 ; -
E ; 145 ol :
25%— 17 I E
. 51 2
E 91 : 127 £
“ 41 85 ' ‘ ‘ e ‘ 19 i
onf:.l “.“ Lol \‘..H J] (11 h.l‘ | L1 ) 1?? bz ceils gs s amB
[ B T T T T ree (R | T 4% T T T T [ T 1 1} T T i 1
50 75 100 125 1o 175 200 225
. . _miz;
MCounts- lons: RIC merged a328c(tetrazole)002.sms ]
2.0 T29093936 RIC merged a329c(tetrazole)002.sms
; | |
; I i
154 * =
1.4 , .
|
0.5 / ' |
] . \ 160557
J \ L7
0.0 =, B
T T e T T T S e T T T T T T T T i e T ol 1
% % 35 40 :
minutes
Tme [ _ - - A A '”V—XX - O
Events ‘Il Ap &
Major Minor
enantiomer enantiomer ee %
29093936 160557 99

S37



Figure 18: *H NMR of 8b (Table 3, entry 1) at 25 °C.

Dihydroindol-
benzoyl-3-propyl -cyclop

02K generated (1R,28,3R)
panecarbaldehy

expl s2pul

SAMPLE DEC. & V!

HeonneEs

PROCESSING

1
wetile
n
math

not us

S38

s0 1.38



Figure 19: *C NMR of 8b (Table 3, entry 1) at 25 °C.

DihydroindolCO2H_generated_(1R, 28, 3R) -2-
Benzoyl-3-propyl -cyclopropanecarbaldehyd
e a3zsn

expl stdile

SAMPLE

opanation/A329h_af~ dr

ter_chromatogr:
_13CNMR_20061207. £~

ACQUISITION
- 101

128,708
128.276

s60

not used

29.207

i
183
000

LB
5
LR
34.699
= —34.09

am no ph

77.323
004
76.686

196.108
136.985

T T T T T T T
140 120 100 80 60 40 20 0 ppm

S39



Figure 20: GLC-M S determination of ee (major diastereomer) 8b (Table 3, entry 1).

R 3301048
[ BP 173 (361744=100%) a329b(co2h)002.5ms 31.857 min. Scan: 1970 Chan: mergad lon: NA RIC: 3342835 BC
173
100 =
105
759 E
: 217 1
.7 :
50/°f ” i
145
17 B
127
158 199 !
! - M o
_'— T AT RS L B e e
g 200 |
- S ——— 2]
MCount& lons: RIC merged a329b(co2n)002 sms
3 C
4 47301276 RIC merged a329b(co2h)002 sms |
K} —
A
: |
2 I T
| |
+ ./ | .
/1 1895703
C F T R B A M TTr T T T 1T T —T° T T T L e e Y M T [ — LI B B A B Y S|
1 ﬁ?ﬁ 25 30.0 25 380 :ﬁf
; minutes
Time P S e S i o s 3‘ - 3 v ,\zii;f ,,,,, - T
Bvents 0 S O | I 4P e . "

Major enantiomer  Minor enantiomer ee %
47321276 1895703 92

S40



Figure21: *H NMR of 9a (Table 2, entry 2) at 25 °C

pihydroindol-tetrazol generated (1R,25,3
R) -2- (4" -bromo-benzoyl) -3-propyl-cyclopr
opanecarbaldehyde 9a

expl  s2pul

SAMPLE DEC. & VT

499.940

HL

30

 after_chromatog- dmf 200

raphy_1HNNE_200612- dseq

07.£id dres 1.0

ACQUISITION n

= 499.940 -0
tn HL

at 3.000 o
np 48000

sw 8000.0 1

b 4000 )

bs 16 n

towr 62 c

pw 1.0 200
a o
tof o

0.20

e

not used

£

_i JFURPUREVERSS S ) RS N J A N R s h-‘-‘\ i

2 i ppm

112 6.0

S41



Figure 22: *C NMR of 9a (Table 2, entry 2) at 25 °C.

Dihydroindol-tetrazol generated (1R,25,3
R) -2- (4" -bromo-benzoyl) -3-propyl-cyclopr
opanecarbaldehyde 9a

exp2 stdllc

SAMPLE DEC. & VT
date Dec 7 2006 dfrq 399.984
solvent coels dn HL
£ile /unitys00/ant- dpwr 48
ti/spectra/cyclopr- dof o
opanation/A239g_af~ dm vy
ter_chromatography~ dmm w
_13CNMR_20061207. £~ dmf 8388
id dseg
ACQUISITION dres 1.0
- 100.585 homo n
13 temp 25.0
1.199
59968 dfrg2  undefined
25000.0 dnz undefined
13800 dpwr2  undefined
16 dof2 undefined
59 am2 undefined
8.7 amm2 undefined
1.000 dmf2 undefined
0 dseqz  undefined
24 dres2  undefined
416 homo2  undefined
n PROCESSING
not used 1b 1.00
s wetile
n fn not used .
n math £ 38
DISPLAY werr B
s 405.3  wexp T
wp 20636.0 wbs
vs 54 wnt
sc o
we 250
hzmn 52.51
is 500.00
rfl 10647.9
rfp 7744.3
th 1
ins 1.000

31,517

am no ph s,

195
135.680
————————— 128.807

—
—30.306

T T T
200 180 160 140 120 100 80 60 40 20 ppm

S42



Figure 23: GLC-M S determination of ee (major diastereomer) 9a (Table 2, entry 2).

BP 253 (102266=100%) a329¢(tetrazole)002.5ms 39,513 min. Scan: 2426 Chan. merged lam: NA RIC: 1181724 BC
253
100%] ]
75%- 3
] 183
50% 1 =
] 144 :
] i :
25%: 157 E
- o o ;‘
] | 237 ¢
RS L E TR T
oo/r:J AR ,,ulhvu,m‘_.n el e \‘H O R [ OO PO | RSV W BT 1 111 VTR Y e o ‘
[} T T T T T T T T T T T T LI B T T T LI T || [ T T T T | B T T T ‘-“
50 1o 150 200 250 30
; ..miz,
MCounts] lons; RIC merged a329d(tetrazole)002.sms
g RIC mergad a329d(tetrazole)002.sms ]
] 22267662 i
15 -i
] \ i}
1.0+ / .
] |\
I
05 Py 104319 i
2 / '\_
1 AN Y AYAVA
00
1 T I [ T T I [ v T T T T ‘ T T T = i T T T E 1 h
30 35 40 45 ) W
minutes !
Time T _ix o m o
Events I L P ] B
Major enantiomer  Minor enantiomer ee %

22267662

S43

104319

99



Figure 24: *H NMR of 9b (Table 3, entry 2) at 25 °C.

Dihydroindol-CO2H generated (1R,28,3R)-2
(4" -bromo-benzoyl) -3-propyl -cyclopropan
ecarbaldehyde 9b

expe  s2pul

saupLE DEC. & VT
date  Dec 7 2006 dfrg 499.940
solvent cacls dn e
file /export/home/- dpur 30
users/antti/spectr- dof o
cti/Cycloprapa~ dm nnn
nation_project/San- dmm
Ples_Again/A317_1_- dnf 200
after_chromatograp- dseq
hy_fractions_67to9~ dres 1.0
£.20070213_1ANMR. £~ homo n
id temp 25.0
ACQUISTTION DEC2
str 499,940 dfrq2 o
tn ¥l dn2
at 3.000 dpwrz 1
np 48000 dof2 o
sw 8000.0 a2 n
B 4000 anm2 <
bs 16 an2 20
tpur 62 dseq
o 4.0 dres2 1
a1 0 homo2
tof o PROCESSING
nt 6 1 0.20
et 16 wefile
alock proc £
gain not used fn not used
LaGS math £
o y wexp
hs mn wbs
DIseLAY wnt
sp 240.6
o 6111
vs 92
sc o
e 250
hann 18.44
is 212.63
*f1 6.2
rip o
th 7
ins 1.000

S44



Figure 25: 13C NMR of 9b (Table 3, entry 2) at 25 °C

Dihydroindol-CO2H generated (1R,28,3R)-2
(4" -bromo-benzoyl) -3-propyl -cyclopropan
ecarbaldehyde 9b

exps  stdllc

SAMPLE DEC. & VT
date Dec 7 2006 dfrq 399.984
solvent coels dn HL
f£ile /unity400/ant- dpur 48
ti/spectra/cyclopr- dof o
opanation/A239g_af~ dm vy
ter_chromatography- dmm w
_13CNMR_20061207. £~ dmf 8388
id dseg

ACQUISITION dres 1.0
= 100.585  homo n

)

i1 n proc £e
in n fn not used
ap n math £
DISPLAY werr
sp -2853.0 wexp
wp 24999.2 wbs
vs 27 wnt
sc o
we 250
hzmn 100.00
is 500.00
el 106483
rfp 77946
th 10 o
i 1.000 2

am no ph

132.5
130.259

.01z

199.509
40.702
R
34.572
29,881
22.496
14.174

T
200 180 160 140 120 100 80 60 40 20 0 ppm

S45



Figure 26: GLC-M S determination of ee (major diastereomer) 9b (Table 3, entry 2).

251
100%-] 3
75%- ]
] 183
50%- ! 3
] 144 i ]
] | o ]
250 | 157 | _
) 76 9 118 ‘ E 223 ]
] 27
] 130 198 : ] | 297
1 \ 17 267
D%' ‘|x‘. llld il il “‘\‘\I‘M | A .H\u i l\ L “ Al “ Feled Fd DO o 2.11.. u|\‘ i L | il 2‘\7?.\ H‘
50 ‘ 100 150 200 ‘ %0 300
miz
MCounts] ]
3 433?244 3
Ii
= .
% | ]
] | 12100925
] S
. :
T T T T T T T T T T T T T T T T T T T T T 4 T T T T T T T T T T T T T T T
% 35 40 45 50 5
minutes
Time YWY
Events | #P *P 41
Major enantiomer  Minor enantiomer ee %
43396244 2109225 91

S46



Figure 27: *H NMR of 10a (Table 2, entry 3) at 25 °C.

(1R_25_3R) -2-Benzoyl-3-methyl-cyclopropa
necarbaldehyde 10a

expd  s2pul

saupLE DEC. & VT
date  May 4 2007 dfrg 499,940
solvent L3 dn

file /export/home/- dpur 30
users/antti/spectr- dof o

i/Cyclopropa- d
nation_project/1R_- dmm
25_3R_2_Benzoyl 3
_cyclopropan~
ecarbaldehyde_10a

sEr 540 DEC2
tn HL
at 3.000
np 48000 1
sw 8000.0 o
b 4000 n
s 1 o
towr 62 200
P 1.0
a 1
tof n
at 1 PROCESSING
ot 1o 0.20
alock n wtfile
n not used

i1 n math £
ap y werr
s nn wexp

DISPLAY bs
sp 85.5 wnt
wp 51758
vs 149
sc o
we 250
hzmn 20.70
is 95.92
el 1500.2
rfp o
th 7
ins 2.000

i el .

S47

{
#{

1 ppm



Figure 28: *C NMR of 10a (Table 2, entry 3) at 25 °C.

(1R, 25, 3R) -2-Benzoyl-3-methyl-cyclopro
panecarbaldehyde 10a
exps stalic
saupLE DEC. & VT
date  Dec 7 2006 dfrg 399984
solvent coels an oy
file /unity400/ant- dpur 18
t1/spectra/Cyclopr- dof o
opanation/1%_25_3R~ dm Yoy
dms 8388
aldehyde_10a_20070- dseq
505.£id dres 1.0
ACQUISTTION homo n
x 100.585 temp o

24 homoz  undefined
Se0 | PROCESSING
n 1 1.00
not used werile
in ge
n math Q
pIseray uexp
E “2903.6 wbs
w 249952 nt
v 59
o
250
hamm 100.00
i 500.00 P
61 10648.7 28
ip 774413 aza
th 1 AR
ins 1.000 8
m no ph B I P

3.686

7.004
76.686

—

T T
200 180 160 140 120 100 80 60 40 20 0 ppm

S48



Figure 29: GL C-M S determination of ee (major diastereomer) 10a (Table 2, entry 3).

BP 105 {199256=100%) a257(1)_after_colum.sms 10.331 min. Scan: 659 Chan: merged lon: NA RIC: 1184810 BG
105
100%-]
75% E
50%| 77
] 173
25% 51 8 | -
] 117 131 160 |
P I R S N
0%t ninn ml pilie s L 1 | ! I || ; . ! 204
T ] ¥ T T T T T T T T T T T b T T T al
50 7 160 15 150 175 200
—_— . miz)
MCoums§ lons: RIC merged a257(1)_after_colum.sms -
2.0 RIC merged a257{1)_after_colum.sms
] ‘ ! ! j
1.5 ! =
i 8548709 E
1.0 %
3 | \
0.5 / |
] 1
1 i 12418 ]
] j \ ; 7 3
D'07| | T T T T , T T T T T T sty T T T T T T T T Fe= \;
1 sl 75 10.0 125 0
minutes
Time S T . h 4 YW -
Events |l 4P 4! % ‘f
Major enantiomer  Minor enantiomer ee %
8548709 12418 > 99

S49



Figure 30: *H NMR of 10b (Table 3, entry 3) at 25 °C.

(18,25, 3R) -

necarbaldehyde 10b 20070504

expd  s2pul

sampLE
date  May 4 2007
solvent cdels
file /export/home/~

DpEC
arrg

users/antti/spectr~ dof

a/An
nation_project/1R_-
25_3R_2_Benzoyl 3

methyl_cyclopropan~

ecarbaldehyde_10b_~ di

20070504.£id
ACQUISITION

ser 9.940
tn HL
at 3.000
np 48000
sw 8000.0
b 4000

i/Cyclopropa- d

-Benzoyl-3-methyl -cyclopropa

& vr
499.940

10

o

69

S50

1

03



Figure 31: *C NMR of 10b (Table 3, entry 3) at 25 °C.

(18,28, 3R) -2-Benzoyl-3-methyl-cyclopropa
necarbaldehyde 10b

exps stdlic

samMpLE
date  May 5 2007
solvent coels
file /unity400/ant-
ti/spectra/cyclopr-

1.199
59968
25000.0
13800

1
61
8.7
1.000

1e+08
10012

n 1 1.00

not used wtfile

s proc £
n o not used
n math £

128,732
28.531
307

EEE)
Toe
E

128.443
128

am no ph

77.315
76.686

133.435

198.953
137.212
1177
23.669

30.398

195.949

T
200 180 160 140 120 100 80 60 40 20 0 ppm

S51



Figure 32: GLC-M S determination of ee (major diastereomer) 10b (Table 3, entry 3).

Unidentified Compound #1 from a257(2)_aft_major.sms

Sample ID: A257(2)_aft_major Operator:

Instrument ID: Last Calibration: None
Measurement Type: Area Calibration Type: Area Percent
Acquisition Date: 2006-07-12 22:05 Data File: .. a257(2)_aft_maj
Calculation Date: 2007-01-05 15:51 Method: . a257(2)_aft_maj
Sample Type: Analysis :
Inj. Sample Notes:
Compound Information
Peak Name: « 1-Acetyl-2,6-naphthalenediol dibenzoate
Result Index: 1 Peak Number: 1 CAS Number: 108804-53-1 TIiC
dentification
Parameter Specification Actual Status
Search Type Library Search
Retention Time N/A 10.321 min.
1st Match Library nist98m.lbr
1st Match Entry No. 45858
2nd Match Library nist98m.lbr
2nd Match Entry No. 46888
3rd Match Library nist98r.lbr
3rd Match Entry No. 11153
Fit >=700 946 Pass
Purity 210
Reverse Fit 214
n ion an ntitation
Parameter Specification Actual Status
Quan lons RIC
RF Used 1.000
Area 3 14925744
Height 2259201
BP 106 (366768=100%) a267(2)_aft_major.sms. 10.321 min. Scan: 642 Chan: merged lon: NA RIC: 2274226 BG
108
100%
75% 4
50%—] =
T
173
25% 51 145 E
117 131 160 189
69 81
o%:,J_q_a_A,,l‘ sl oo B5 B S T O P |¢| ,‘I.‘\ fpmi 1 | Pl
go 7s 1o 125 150 B 1ts
m/z
MCounts. 140925744 lons: RIC merged a257(2)_aft_major.sms
RIC merged a257(2)_aft_major.sms
2.0-] ( \ -
1.5 J: -
1.0+ K \I -
\
0.5 \ =
oo | — T T ‘%‘ N |
g - I O T S MR e Faa e e s A & T
minutes
Time f = — - ddied
Events Il _ P L T ) -~
Major enantiomer  Minor enantiomer ee %

14925744 886027 89

S52




Figure33: 'H NMR of 11a (Table 2, entry 4) at 25 °C

hydroindol -t ®,3
Allyloxymethyl-3-benzoyl-cyclopropan
ecarbaldehyde_after chromatograpgy A329a

razole_generated 1R

s2pul
SAMPLE pac

date Dec 7 2006 dfrq

solvent 4cli dn

antti/spectr- do
a/Antti/Cycloprapa- dm
nation_project/A32~ dmm
_after_chromatog~ dmf
raphy_20061207.£id dseq
ACQUISITION dres 1.0
rq 499.940  homo n
HL temp 25.0
3.000 DEC2
48000 dfrqz o

8000.0 dn2
4000 dpurz
16 dof2
62 am2
ow 4.0 amm2

PROCESSING
1 20
wetile
o not used
math £

wexp
wnt

et Pl W

§ fpl u " TS i || i
T T T T T T T T
9 8 7 6 5 4 3 ppm
r—v—l - e s — e e s s
1.00 122 0.93 2.80 163 128
2.40 2.51 2.23 163 1.2 143

S53



Figure 34: *C NMR of 11a (Table 2, entry 4) at 25 °C

hydroindol-tetrazole_generated_(1R,2R,
2-Allyloxymethyl-3-benzoyleyclopropa
necarbaldehyde A329a

staise
SAMPLE DEC. & V"

£rg 399.984

in HL

8

vyy

_13CNMR_20061207. £~

ACQUISITION
- 100.5:

128.451

128.701

not used
£

133,594
31.831

117,421
71.876
6.580
30.2:
27.727

134.155
77.323
7.004
76.686

195
146.164
—136.841

T T
200 180 160 140 120 100 80 60 40 20 0 ppm

S54



Figure 35: GLC-M S determination of ee (major diastereomer) 11a (Table 2, entry 4).

‘BP 173 (363090=100%) a329a(tetrazole)002.sms 28.692 min. Scan: 1764 Chan: merged lon: NA RIC: 2916994 BC )
) 173
‘ 100%—
N
| 75% 1 .
7 ‘ 245
50%-— =
; 77 ]
- 147 145 1
25%- E
; 51 127 160
4 91 |
N 65 ; 187 203 227
‘00/‘,,}4,.1“.‘.‘\ Vb el I ] | i e cdll il ..._HMJ‘_IH L [, L L _ J ! .
T T T T T v Lo N bl T 1 T T T T T T T T T T T T T T T T |
| éo 100 1})0 2[5() 2%0
- ' . _ miz|
iMCounts| lons: RIC merged a329a(tstrazole)002 sms |
RIC merged a329a(tetrazole)002.sms
8_
Ia 13 -
6 i _
5 =
4 " 40735664 .
3,
2 /\ 7
o 120%781 / Ik 2063945
0_'_1'_\ "r"'r"‘v F"’T“'l:'ié'j T T ‘ U T T T N T T T T T Sy ) T T 7Y|y e | : T T._:
10 15 50 25 30 )
minutes
Time V‘_ R T — r X'_ ,_m,;,if, -
Events |l A . . ... j

Major enantiomer  Minor enantiomer ee %
40735664 282945 99

S55



Figure 36: *H NMR of 12a (Table 2, entry 5) at 25 °C.

-tetrazole generated (IR,2R,
Loxymethyl-3- (4 -bromo-benzoyl
necarbaldehyde 12a

exp3 s2pul

SAMPLE DEC. &

200
raphy_1HNMR_
07.£id dres 1.0
ACQUISITION homo n
= 499.940 temp 25.0
HL DEC2
3.000 dfrgz 0
48000 dn2
8000.0 dpwr2 1
4000 dof2 o
an2 n
62 dmm2 c
4.0 anf2 200
0 aseqz
es2 1
o2 n
PROCESSING
0.20
Aleite
o e
not used
n £
®

I A

[ [
0.78 1.80

S56



ydroindol-tetrazole generated (IR,2R,
2-allyloxymethyl-3- (4*-bromo-benzoyl
yelopropanecarbaldehyde 12a

expd stdlic

SAMPLE DEC. & VT

opanation/A329e_af~ dr
ter_chromatography-
_13CNMR_200061207. ~

£
ACQUISITION
- 101

32.009
129.930

1 1.00
wetile

proc (
n not used
math £

wexp
wnt

117.474

134.072

194.674
\128.891

Figure 37: *C NMR of 12a (Table 2, entry 5) at 25 °C.

71.892

189

30.284
27.894

S57

40



Figure 38. GLC-M S determination of ee (major diastereomer) 12a (Table 2, entry 5).

BP 251 (197008=100%) a317_3(tetrazole)002.sms

32,599 min. Scan: 1987 Chan: merged lon: NA RIC: 2338510 BC

251
100%- -
\ E
1 :
! 5
I T E
50%— 183 E
b 144 ]
26% " g | 1ss 223 E
50 78 ! 238
: | 128 | 1 281 323
: | 8 104 ) | 169 209 | | 267 ) 295 ‘
0% il L1 Gilly s tabn Sl B tlll i i o [
50 160 1ho 200 “2bo " abo “‘1
- miz
MCounts- lons: RIC merged a317_3(tetrazole)002 sms |
5 RIC merged a317_3(tetrazole)002.sms -
‘F 338?248 ]
> \, ;
: I L
2 —/ 79687 B
P e R R A P e S e e e o
0! .
B 0 T 1 T T T T L T T i R e e o i [ T T T n
! 280 275 ado ads 380 95 mﬁﬁ&
Time ! o _ A & m SR SO
Events I Ar ' - J

Major enantiomer

33853248

ee %
> 99

Minor enantiomer
79687

S58



Figure 39: *H NMR of 12b (Table 3, entry 5) at 25 °C.

Dihydroindol-CO2H generated (IR,2R,3S)-2
allyloxymethyl-3- (4'-bromo-benzoyl) -cyc
lopropanecarbaldehyde 12b

exps  s2pul

SAMPLE DEC. & VT
date  Nov 16 2006 dfrq 499.940
solvent cdels dn HL
file /export/home/~ d
users/antti/spectr~ dof
a
a

a/Antti/Cyclopropa-
nation_project/A3l~ e
7_3_after_chromato- dmf 200
graphy_fractions_1- dseq

04£0140_1imNR_: dres 1.0
1136.£id  homo -
ACQUISITION 25.0
str 499,940
n K1 3
at 3.000
~ 48000 1
su 5000.0 0
o 4000 n
b5 16 <
tpur 62 20
o 40
a1 o 1
tor o
nt 1 PrOCESSING
ct F 0.20
atock y werile
used proc :
B not used
i1 o math B
ap y werr
ns o wexp
DrseLay wbs
sp wnt
o
hamn
ce1
*fp
th
ins
[, P Y i M oines b e ek . L. PO, PRI | N
T T T T T T T
9 8 7 6 5 4 3
r—v—l e e — e —
1.00 2.6 2.38 169 147 1.26
2.5 2.91 1.6a 128

S59



Figure 40: *C NMR of 12b (Table 3, entry 5) at 25 °C.

rydroindol -CO2H generated (1R, 2R,35)-2
allyloxymethyl-3- (4'-bromo-benzoyl) -cyc
lopropanecarbaldehyde 12b

exp? stdiie

SAMPLE

194.705

- s

134.087

=

125.485

77.223
77.004

31771

30.314

7.902

S60

80

60

40

ppm



Figure 41: GLC-M S determination of ee (major diastereomer) 12b (Table 3, entry 5).

BP 253 (364058=100%) a329e(co2h)002.sms

32759 min. Scan: 1998 Chan: merged lon: NA RIC: 4506208 BC
253

100%— e
75%-— E
50% 183 E

: 144
E 116
25% 157 225 555
T 76 ; 128 HL 325
E : 103 21 283
O%J:LLA_MLL@ uLL'J.LJ |_u,..1u7:j el ‘n Ll | ‘ il : \‘\.!‘ A ‘ ‘-‘ ..26|5. ul, . ..“:\3,[\]?. H\n
¥ ¥ sb T ¥ T T T T ¥ 160 T T T T T T T 150 T T T I T T T 260 T T [t e U B |'2"é[') g T T T 360 ¥ T T T
B . m/z
MCounts” lons: RIC merged a329e(co2h)002.sms
7 75294616 RIC merged a328e(co2h)002.sms
6= )4
: /1
5= -
: / \
4 £ 4 -
: /YN
3= /
: / \ 4797490
3
& AN -
1 =
| 1
=
T 3‘0 T TTTT fr T T 3‘1' ek S B A 32 L L A N N | T 3!3 L (] ’Y_Y_\SLt L T T T 3‘5 YL T T 1 3‘6 T T T “ 3 - j
minutes
Time | - Y Ty oo
Events ill _ Ao ﬁg A 7|
Major enantiomer  Minor enantiomer ee %
75294616 4797490 88

S61




Figure 42: *H NMR of 13a (Table 2, entry 6) at 25 °C

rydroindol -tetrazole generated (1R,
3R) -2- (4" -bromo-benz
clopropanec

s,
Y1) -3-hex-5-enyl-cy
aldehyde 13a

exps  s2pul

SAMPLE DEC

antti/spectr- do
a/Antti/Cycloprapa- dm
nation_project/A32~ dmm
_after_chromatog~ dmf
raphy_20061207.£id dseq
ACQUISITION dres 1.0
rq 499.940  homo n
HL temp 25.0
3.000 DEC2
48000 dfrqz o

8000.0 dn2
4000 dpurz

16 dof2
62 am2
4.0 amm2
o anf2
0 aseqz
1 ares2
1 homo n
PROCESSING

1 20
wetile
in n fn not used
ap y math £
s nn
ipTseLAY werr
sp 958.6 wexp
wp 3890.6 wbs
vs 224 wnt
o
250
56
£l 5.8
rfp 5.5
th 7
ins 000

et Pl W

» T . || i
T T T T T T T T
9 8 7 6 5 4 3 ppm
- e — e e s s
1.00 122 0.93 2.80 163 128
2.40 2.51 2.23 163 1.2 143

S62



Figure 43: *C NMR of 13a (Table 2, entry 6) at 25 °C

hydroindol-tetrazole generated (IR,2s,
3R) -2- (4 -bromo-benzoyl) -3-hex-5-enyl-cy
clopropanecarbaldehyde 13a

exps  stdile

SAMPLE

£rg 399.984

in HL

8

vyy

a w

_13CNMR_20061207. £~ dmf 8388
id dseg
ACQUISITION dres
- 100.585 homo

128.451

128.701

not used
£

133,594
31.831

71.876
6.580
30.2:
27.727

117,421

77.323
7.004
76.686

134.155

195
—136.841

T T
200 180 160 140 120 100 80 60 40 20 0 ppm

S63



Figure 44: GLC-M S determination of ee (major diastereomer) 13a (Table 2, entry 6).

BP 185 (47628=100%) a317_4(tetrazole)002.sms

100%-1
76%-
50%-

] 122
25% 50 75

o%;LIJdltdeiﬂhmd ULJA.ELMM
: :

!u Ldll.l.lﬂ.luhlhli L Lut

41.915 min. Scan: 2534 Chan: merged lon: NA RIC: 893815 BG
185

144
167

169

i L e w

MCounts|

2.5
2.0
1.6+

1.0

\|\1g0\ B T v i T |2

L._..ml“[1.4....mj.ln_..l.||m
o

213

237

uI.JJLl.L th.l“‘Jlll.u-lllll

T T T T

‘mu...ull

251

288 277

323

346

Lol o
Ih.lln.hh Ll llxlm._ulxlti st bl b

BOOITL © P S

by

m/z

18576048

lons: RIC mergad aaﬁ'_}(;a_i-r;zola)ﬂaz.sasl
RIC mergad a317_4(tetrazole)002.5sms

0.5

0.0-

T T T '"3]OI T T T

Time —

o

5

minutes

Events |l

Major enantiomer
186786048

Minor enantiomer
283057

S64

ee %
> 99

g5

=




Figure 45: *H NMR of 13b (Table 3, entry 6) at 25 °C.

A317_s_after_chromatography_fractions 82
to110_1HNMR_20061116

exp3 s2pul

graphy_fractions_- dres
82t0110_ 1HNMR_2006~ homo
1116.£id temp
ACQUISITION DEC2
x 499,940 dfrqe
HL dnz

at 3.000

1 0.20
wetile
n not used
math £

om cde

ke

S65



Figure 46: *C NMR of 13b (Table 3, entry 6) at 25 °C.

A317_4_

after_Chromatography_fractions_82
to110_13CNMR 20061116

061

exp3 stdilc

savPLE DEC. & VT
date  Nov 16 2006 dfrg 399984
solvent coels dan oy
file /unity400/ant- dpur 18
t1/spectra/Cyclopr- d o
opanation/A317_4_a~ dm Yoy
fter_Chromatograph- dmm w
y_fractions_62toll- dme 8388
0 13CNMR_20061116.~

£ia
ACQUISITION
- 101

undefined
undefined
o undefined
100000 homo2  undefined
1376 PROCESSING

1 1.00

not used wtfile
s proc £
n fn not used
n math £

LAY wexp

3
:
1 10647.1 ..t
rfp 77443 o a3
th 7 = nern
000 a £
L. ‘ | o . " U,

180 160 140 120 100 80 60 40 ppm

S66



Figure 47: GLC-M S determination of ee (major diastereomer) 13b (Table 3, entry 6).

BP 183 (168079=100%) a329f(co2h)002 sms

41.508 min. Scan: 2519 Chan: merged lon: NA RIC: 3799859 BC i
183

100%- =
: 251 ]
75% 4
5 213 ]
50%_5 144 E
z 157 ]
: 122
s 81 ]
25%_: 50 | ‘ | ‘ 1
- 237 77 ]
: o (.t | e 321
: ‘ o H } B T T 1 : ‘ I ‘ l 295 305 ;
c [ | ‘ i , i : i ]
0%-— Wl 1 L JW‘|| “\ I-|\A‘HHH”I|M“J il \-‘|1|H‘M‘.MMH | m‘;‘n. NHTRRTTE M E H putebl il M'I‘I‘nm“ l\u IIHH.. mI|H.Jmm”“| mn ” Ly ‘H\mu'
' 160 150 200 ek T T ek "
MCountsE 83233528 lons: RIC merged a328f(cc2h)002.sms
5 RIC merged a320f{c02h)002.sms ]
4 -
5
3 7
g .
% s
0 -
A 1 3
e T T T T T b b T T BT T T 7T T T T LIl T T 5 T 1 T T T T T T T T 7T T T T 71 T 7T T T
% 30 % 4 s 50 55 mmute‘s
Time | AEn A
Events | *P #IAI
Major enantiomer  Minor enantiomer ee %
83233528 2015456 95

S67



Figure 48: *H NMR of 14a (Table 2, entry 7) at 25 °C.

A282_IT_after_chroma

ography_fractions_4

0to63_1HNMR_20060831
exp3 s2pul

SAMPLE
date  Aug 31 2006 dfrg
solvent cdels dn

_fraction
40to63_LHNMR_:

831.£1
ACQUISITION temp
- 499.940

[ ML [

W 1 o . e W
T T T T T
9 8 7 6 5 3 ppm
—— — e e —
1.0 133 2.542.58 )
2.4 2.76 1.20 2 12

S68



Figure 49: *C NMR of 14a (Table 2, entry 7) at 25 °C.

RA283_2_after_chromatography_fractions 44
062 13CNMR_20060916

expl  stdiic

SAMPLE
date  Sep 16 2006
solvent coe1s
file /unity400/ant~
ti/spectra/cyclopr-
opanation/A283_2_a~
fer_chromatograph~

actions_44tof2-

6

a
_13CKNMR_20080:

- g
- s £

(
not used
£

336

no ph

136.964
136.881

195.028

L o " | o
A I e

308

0.847

32.420

S69



283 _2_after_chromatography_fractions 44
to62 1RNMR_20060831

expl s2pul

SAMPLE
date  Aug 31 2006
solvent cdels
file /export/home/~
users/antti/spectr~ dof
a/Ancti/Cyclopropa-

nation_project/A28-

HL
3.000
48000

8000.0

4000
16

1.0

1
€ 1o 0.2

Figure 50: *H NMR of 14b (Table 3, entry 7) at 25 °C.

bt

S70



Figure51: *H NMR of reduced 14a to give 15a (referring to Table 2, entry 7) at 25 °C.

_2_after_Chromatography_fractions_11
T1HNMR_20060918

expl  s2pul

saupLE DEC. & VT
date  Sep 18 2006 dfrg 499.940
solvent cacls dn Iy
file /export/home/- dpur 30
users/antti/spectr~ dof o
a/Ancti/Cyclopropa- dm nnn
nation project/A20- dmm
2_2_after Chromato- dmf 200
graphy_fractions 1 dseq
1to21 THNMR 200609~ dres 1.0
15.£1d homo n
ACQUISTTTON cemp 25.0
x 99,940 pEc2
W afrq o
3.000 dn2
48000 dpwr2 1
8000.0 dof2 o
4000 dm2 n

S71



Figure 52: *H NMR of reduced 14b to give 15b (referring to Table 3, entry 7) at 25 °C

A292_1_after_chromatography_fractions_18
to27_1HNMR_20060918

expl  s2pul

samMpLE
date  Sep 18 2006
solvent cdels
file /export/home/~
users/antti/spectr~
a/Ancti/Cyclopropa~ dr
nation_project/A20-

2.1 affer_chromato-
graphy_fractions_1~
8t027_LHNMR_200609~

1s.£id
ACQUISITION
sEr 499,940
HL
3.000
48000
8000.0
4000
16
62
1.0
o
o
1
1
y
gain not used proc £
s n not used
i1 n math £
ap y werr
s nn wexp
DISPLAY
sp 1090.4 wnt
wp 3046.6
vs 140
sc o
we 250
hzmn 12.19
is 62.07
el 1500.2
rfp o
th 7
ins 1.000
nm cde ph
e i - W e . i

S72



Figure 53: HPL C deter mination of ee (major diastereomer) 15a (referringto Table 2, entry 7).

(1R,2S,3R)-Benzoyl-3-Phenyl-cyclopropanecarbaldehyde 1H-tetrazole generated
- 0.2 —
8
2
© s 2 -
= >
8 E
= oy A
S
B 0.0
D T ' | ' ]
20 30 40
Minutes
—— > gi\gilson\data\antiicyclop=1\pek1.003\pek1.gct : 254 nm : (1R.25,3R}-Benzoyl-3-Phenyl-cyclopropanecarbaldehyde 1H-ietrazole penerated: Inj. Number: 1
~ = i-Propancl
= = Hexans

1.00 301490560.0(f 100.00 |lopropanecar]

S73



Figure 54: HPL C deter mination of ee (major diastereomer) 15b (referring to Table 3, entry 7).

(1R,2S,3R)-Benzoyl-3-Phenyl-cyclopropanecarbaldehyde CO2H generated

100
1.10—

1.00—
0.90—
0.80—
0.70—

B 0.60

mVolts
1

0.50—

% Mobile Phase

0.40—

0.30—

0.20

0.10—

0.00

Minutes

—— > cigilsonidatatanttiicyciop~1\pek1.001\pek1.gdt : 254 nm : (1R.25,3R)-Banzoyl-3-Phany- Co2H Inj. Number: 1
~ = iPropancl
~ =~ Hexang

32073716.0( zyclopropanet
1.00 2 29.70 29478692.00 347 zyclopropanet

S74



